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Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. _ ark the correct choice on your awerbee

1- Currently 80 percent of drugs are shot down in early clinical trials because they are not
effective or are even -----—--

1) intense 2) initial 3) toxic 4) prior

2-  With such rapid advances in the field of human transplantation, researchers such as myself
are now beginning to consider what some have previously ----——-- unthinkable: transplanting
a human brain.
1) deemed 2) pursued 3) perplexed 4) excluded

3- Weather forecasters are a frequently humbled bunch. No matter how far their science
advances, the atmosphere finds ways to ~—---—- prediction.
1) underlie 2) defy 3) expose 4) strive

4- Many armed groups —-----—-- mix with the population to avoid identification. Sometimes they
actually use civilians as shields.
1) inherently 2) coincidentally 3) persuasively 4) deliberately

S5- After receiving a phone call that a bomb had been planted somewhere in the hotel, Police
ordered the —-—----- of the building.
1) resistance 2) evacuation 3) authority 4) invalidity

6- Cosmologists, however, can make =—--=e-- about the early universe based on the cosmic
microwave background radiation, which was emitted about 400,000 years after the big bang.
1) concessions 2) ramifications 3) foundations 4) deductions

7- The fact that there are many earth-like planets in the universe supports the widely held view
that life --------- the universe.

1) pervades 2) innovates 3) exemplifies 4) overlaps

8- Centuries before the development of effective cannons, huge artillery pieces were demolishing
castle walls with ------— the weight of an upright piano.
1) estimations 2) ensembles 3) barricades 4) projectiles

9- People in their late 90s or older are often healthier and more --—---— than those 20 years
younger.
I) civil 2) durable 3) robust 4) concurrent

10- One of the first prominent geologists to raise concern that global warming might ---e---- a
catastrophic collapse of the Antarctic ice cap was J. H. Mercer.
1) trigger 2) negate 3) exceed 4) replace

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), ), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

hunt for caloric restriction mimetics grew out of our desire to betier understand caloric.
restriction’s many effects on the body. Scientists first recognized the value of the practice more

than 60 years ago, when they found that rats (11) ===--nn-- a low-calorie diet lived longer on
average than free-feeding rats (12) ~-we--m-- a reduced incidence of conditions (13) ===-==-== .
What is more, some of the treated animals survived longer than the oldest-living animals in the
control group, (14) ==e=eme-- that the maximum life span (the oldest attainable age), not merely
the average life span, increased. Various interventions, such as infection-fighting drugs, can
increase (15) =mememmn- , but only approaches that slow the body’s rate of aging will increase the
maximum life span.

11-1) feed 2) they were fed 3) fed 4) feeding

12- 1) to have 2) had 3) in having 4) and had

13- 1) in old age they became increasingly common
2) that become increasingly common in old age
3) becoming common in increasingly old age
4) they became in old age increasingly common

14- 1) which means 2) but means 3) it means 4) what it means
15- 1) the average time in survival population 2) a survival population average time
3) a population’s average survival time 4) the survival time in average population
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Reading Comprehension

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits
each space. Then mark the correct choice on your answer sheet.

PASSAGE 1:

Some time around 1995 archaeologists started using computer graphics to build virtual 3D
models of sites such as the throne room of an ancient Assyrian palace or ancient Rome. This is
done by collecting normal photographs and using computer graphics to build the virtual 3D
model. In more general terms, computers can be used to recreate the environment and
conditions of the past, such as objects, buildings, landscapes and even ancient battles.
Computer simulation can be used to simulate the living conditions of an ancient community
and to see how it would have reacted to various scenarios (such as how much food to grow,
how many animals to slaughter, etc.) Computer-built topographical models have been
combined with astronomical calculations to verify whether or not certain structures (such as
pillars) were aligned with astronomical events such as the sun's position at a solstice.

16- What does the passage mainly discuss?

1) Virtual Archaeology 2) Computer Simulation

3) Topographical Models 4) Astronomical Calculations
17- What does this in the 2™ line refer to?

1) Using computer graphics

2) Building 3D models of sites

3) Gathering normal photographs

4) Taking photographs of Assyrian Palace or Rome

18- According to the passage, computers can be ------=v-v-n-uum-o- the environment and conditions of
the past.

1) applied to alter : 2) applied to modify

3) employed to adapt 4) employed to restore

19- It is mentioned in the passage that computer simulation can be used to -------------——-- .

1) reproduce the way of living in ancient times

2) respond to the living conditions of an ancient community

3) react to various scenarios such as how much food to grow

4) reject various scenarios such as how many animals to slaughter

20- Which of the following is NOT true of computer-built topographical models?

1) They are integrated with astronomical calculations.

2) They show the relationship of certain structures with specific astronomical occasions.
3) They show whether or not structures like pillars were aligned with astronomical events.
4) They are specially designed to predict events such as the sun's position at a solstice.
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PASSAGE 2:

The purpose of archaeology is to learn more about past societies and the development cf the
human race. Over 99% of the history of humanity has occurred within prehistoric cultures,
which did not make use of writing, thereby not leaving written records about themselves that
we can study today. Without such written sources, the only way to learn about prehistoric
societies is to use archaeology. Many important developments in human history occurred
during prehistory, including the evolution of humanity during the Paleolithic period, when the
hominines developed from the australopithecines through to the early homos in Africa and
finally into modern Homo sapiens. Archaeology also sheds light on many of humanity's
technological advances, for instance the ability to use fire, the development of stone tools, the
discovery of metallurgy, the beginnings of religion and the creation of agriculture. Without
archaeology, we would know little or nothing about the use of material culture by humanity
that pre-dates writing.

21- What would the best topic be for the above passage?

1) Prehistoric Societies 2) Evolution of Humanity

3) Discovery of Metallurgy 4) Objective of Archaeology

22- One can infer from the passage that prehistory era refers to ----------meemeene .

1) more than 99% of the history of humanity with written records

2) the history of humanity with no written records

3) the development of various races on the earth

4) the past societies which made use of writing

23- According to the passage, the evolution of humanity occurred during the period when -----—-- .
1) humans had just developed farming

2) humans used tools and weapons made of stone

3) the earliest chipped stone tools emerge in the early phase of stone age

4) microlithic tools and weapons appear and the nature of settlements changes

24- What does australopithecine in the 7™ line mean?

1) subfamily of the family Hominidae that include humans and their direct ancestors

2) genus of fossil bipedal primates with both ape-like and human characteristics

3) modern species of humans, the only extant species of the primate family Hominidae
4) members of the genus Homo, which includes the extinct and extant species of humans

25- Which of the following is NOT mentioned in the passage among humanity's technological
advances in the prehistoric era?

1) raising of crops and livestock 2) making use of stone instruments
3) technique of preserving food and fruit 4) method of heating and working with metal
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PASSAGE 3:

However, it is not only prehistoric, pre-literate cultures that can be studied using archaeology
but historic, literate cultures as well, through the sub-discipline of historical archaeology. For
many literate cultures, such as Ancient Greece and Mesopotamia, their surviving records are
often incomplete and biased to some extent. In many societies, literacy was restricted to the
elite classes, such as the clergy or the bureaucracy of court or temple. The literacy even of
aristocrats has sometimes been restricted to deeds and contracts. The interests and world-view
of elites are often quite different from the lives and interests of the populace. Writings that
were produced by people more representative of the general population were unlikely to find
their way into libraries and be preserved there for posterity. Thus, written records tend to
reflect the biases, assumptions, cultural values and possibly deceptions of a limited range of
individuals, usually a small fraction of the larger population. Hence, written records cannot be
trusted as a sole source. The material record may be closer to a fair representation of society,
though it is subject to its own biases, such as sampling bias and differential preservation.

26- What does the passage mainly discuss?

1) Literacy of Aristocrats 2) Historical Archaeology

3) Representation of Society 4) Differential Preservation

27- One can infer from the above passage that -------—-—-—-———— cultures can be studied using
archaeology.

1) only written 2) only unwritten

3) neither written nor unwritten 4) both written and unwritten

28- Why are the surviving records of many literate cultures biased?
1) Because they are limited to the elite classes.

2) Because they speak about different social classes.

3) Because they often ignore the clergy and the bureaucracy.

4) Because they are about ordinary people engaged in farming.

29- According to the passage, the literacy of noblemen has sometimes been limited to --------------- .
1) endeavors and facts 2) actions and behaviors
3) documents and agreements 4) achievements and realities

30- Why can written records not be trusted as the only source?

1) Because they reflect the cultural values and deceptions of the whole society.
2) Because they are close to a fair representation of the entire society.

3) Because they reflect the attitude of a limited range of persons.

4) Because they are representative of the general population.
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